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108 = Bt R NS EE 240t @
3. (10%)

Given the impulse response of an LTI DT system, H{n}=A0.5)"u[n
(a) the frequency response (5%) and
(b) the linear, constant-coefficient difference equation (5%) of the system.

(=0.25)"u[n]. Determine
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Problem 2
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Ai. Please determine the z-transform or the inverse z-transform of the following
signals. .
(—)(10%) Please find the z-transform of the signal x[n},

dn)=( 2 e o | i

where uln] is discrete-time unit-step function, and * denotes the

discrete-time convolution operator.

(==)(10%) Please find the inverse N-:.m:&o.? of X(z),
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X(z)= —
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7. (6%)
Find the z transforms of the following functions.
(1) hin] =05™un] M o
(2) h[n] = (n+ 1)0.5™u[n]
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9. (6%)

Find the locations @2& eros/and discuss nj. ow:@:ﬁ?ﬁ%@w the following

z-domain transfer function.
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=~ (15%)

, ; 1Y | : 1(1Y 1(1Y
Given an input x[n]= 3 u[n], the output of a DT LTI systemis y[n]= 23 u[n]+ als u[n]
(—) (10%) Find the frequency response (5%) and impulse response (5%) of the system.

(=) (5%) Find the difference equation relating input and output.
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